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If a clock is placed in such n way thal

at 3 pm the hour hand ponts lmw;r‘ :
west. then in which direction o€

the minute hand of the clock point al
4 :45am?

(A) West (B) North
(C) East (D) South
(E) Not attempted
x lenses

uires conve
T roduce
within
the

for-correction, which also p
magnification. the line seen
the lens is therefore lateral to
line outside.
(A) Hypermetropia
(B) Myopia
(C) Hypometropia %
(D) None of the above .
(E) Not attempted
is set of rules (protocol) _that
govern how data can be transmitted
over the WWW,
(A) File Transfer Protocol
(B) Hyper Text Transfer Protocol
(C) Domain Name System
(D) Telnet
(E) Not attempted

In there is absense of blue
sensation.
{A) Protanopes

(B) Deuteranopes
(C) Tritanopes

(D} Al of the above
(E) Not attcmptcd

Publictranaport free i
(A) England .
(C) Usa B) Brazi

11.

12.

13.

14,

18.

ﬂﬁ!ﬁﬁg'lﬁ!mm
AN R D 4 : 45 A ya.

rafere TR A W@ F a0l Bf
() &d FfRI

AL
() wrgataA
(D) 30 § @ H§ 7@

(E) Jwafdd
whaawa e fFE =
R Hq yaia & s wam @

(A) HIFET TRAB MtRie
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N a person alre
: ad
from g disease, when .

S€ts up a new infectio
external source.

(A) Focal infection

(B) Cross infection

(C) Nosocomial infection
(D) latrogenic infection
(E) Not attempted

sulfcring
a new Pﬂfasitc
n from another

If two waves of equal wavelength (but
not necessanly of equal amplitude) are
travelling in the same direction but are
‘out of step’ with each other, the fraction
of a cycle or wavelength by which one
leads the other is known as the

(A) Interference (B) Phase difference
(C) Refraction (D) Disfraction
(E) Not attempted

Expand EDO.

(A) Extended Dynamic Output
(B) Expandable Data Output

(O Extended Data Output

(D) Expandable Oynamic Qutput
(E) Not attempted

is the photosensitive part 19.

of eye.

(A) Sclera

(B) Retina

(C) Vitreous body
(D) Aqueous humor
(E) Not attempted

is that condition of 20.
refraction in which a point of light
cannot be made to produce a punctuate

image upon the retina by any spherical
correcting lens,

(A) Aphakia

(B) Anisometropia

(C) Astigmatism

(D) None of the above

(E) Not attempted
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16. Rt i) @ gzt 3 it = &
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A T G e % R |

(A) BIFT G

(B) T8 §FT0

(C) NawmRrra wHaw

(D) FAIAF FHw

(E)

R TR et f QA 70 (AR TR FRE
At A wmARMETE R AL
AR oF g ¥ A R % 'Y E,
o a1 o W AW s T @& W

ofg & B, ¥ @ & 9 I
(A) SEfeFT (B SO 30K

(C) 9 (D)

(E)

3 &1 faww R

(A) m Siﬁm HAILJL
(B) GEEUISHT 3 AIEIC

(C) @Ee3E 3 ILIC

(D) THETidYS FFE LI

(E) JgAfHa
(A) gaged
(B) %
(C) T H W
(D) 9gd
(E) warfaa

yqadd & 9% R R
Rl HereR gane ofd g0 e S fag
# W | & T Bfa @R F o Tf
™ I GHa R |

(D) 3T & } #iE I8
(E) 3maR@
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21. The Dual Government System was 21. Ax0 wmA voreh) )

abolished by fm ma | —
(A) Robert Clive (A) th’é LS1ic
(B) Dalhousie (B) IR
(C) Lord Wellesly (C) a2 Iy
(D) Warren Hastings (D) a7 few
(E) Not attempted (E) 39
22. when light meets an interface between 22. @ yEW, Q AwH & f FAYS 3
two media, its behaviourdepends on the e & @ [E I @ mie 24
nature of the two media involved. Light méwﬁ q fnk & | s

or ransmitted onward through it, or it
may bounce back into the first medium.
This bounang’ of light at an interface is

may be absorbed by the new medium, %

TC qrey g0 e e @ g 2, m
W& Ty @ 3w fen = weaAn R,
71 9§ 98 wrem i awa Jore wea

T WS W yEm A W IO W

¥ I9ER §

called
& Ial R
(A) Retraction  (B) Refraction - m (B) A&
(C) Diffraction (D) Refiection - (D) yhfea
(E) Not attempted (E) Jmanfea
23. acquired during diagnostic 33 TRE 7 Jogfes s % W
or therapeutic procedures. nd R
(A) Cross infection (A) TR HHA '
(B) Iatrogenic infection (B) mﬁﬁ W
(C}) Nosocomial infection (C) a’tdlailﬁua T
(D) Mixed infection {D}) fafa @
(E) Not attempted (E) FAvartda
24. Concave lens used in the treatment of 24. ¥qAS 8 & am
R e R
(A) Myopia (A) P M
(B) Hrubys’ lens (B) #fwa <
(C) Both (A} and (B) (€ (a) 3K (B)
(D) None of the above (D) 350 & } *¢ 78
(E) Not attempted (E) wanfdd
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- 0A23
s, factor is involved in 25. TEmRYT §
accommodation. ' —— et
(A) Pupil @ e
(B) Movement of the eye balls (B) 3 Ters &1 frern
(C) Lens () 3w
(D) All of the above (D) 3% &
(E) Not attempted (E) A5aRia
26. The Father of Indian Green Revalution s~ 26. WA 3 &Rt #ify & T9%
(A) Sir M. Vishveshwariah (a) | 8. Frawtan
(B) Norman Borlough (B) T3 ¥
(O) M. S. Swaminathan (C) . Tq. =43
(D) Verguese Kurien (D) Fffa Flas
(E) Not attempted (E) swafaa
27. Theincident ray, the reflected ray and  27. 9fan fw, wafda fmwm o woeds
the normal to the reflecting surface all AR F dftea ot @ @ o= § A ¥
lie in the same plane. Is the law of qE w1 fam R L
(A) Refiection (B} Refraction (A) SR (B) 3
(C) Diffraction (D) Retraction () frada (D) RLER
(E) Not attempted (E) X
2s. is agroup of dissases 28 MM A FE IR W W
characterized by incrfa:cg intraccular WW @ & A 3, D A
pressure, which causes damage of optic A ® TFEA W@W R, famd stem
nerve, resulting in blindness. e AU
(A) Glaucoma (A) @ F
(B) Cataract (B) RI4IC
(C) Convergence (C) e ﬁ
(D) All of the above (D) 3R &R
(E) Not attempted (E] Fvarfya
29, is the biological 29, s wBE A
rocess which takes place in the m m m
gody of macroorganisi:n following % % W
the penetration of pathogenic ¥ yan W ¢ |
microorganism,.
(A) Infection (A) EHI9
(B) Transduction (B) 9CTHA
(C) Conjugation (C) 8q™4
(D) None of the above (D) I | | ﬁ% "-Tﬁ
{(E) Not attempted (E)
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is a short-range wireless
technology that can be uscdgto connect 39 %"‘ % 8 T A Ty T
mobile-phones, mouse, headphones, ELRIL RS ®, 134, ?Swh
keyboards, computers, etc. wirelessly e, WZ{Z{ afe 7 #g {ﬁ QWF}G
over a short distance. mﬂtﬁsﬁ%%q&mmma
(A) Wireless LAN (B) Infrared (A) TR A (B) ARe
(C) Wi-fi (D) Bluetooth (C) Tr3—wré (D) &3
(E) Not attempted (E) Fyaifaa
40. is a flat band-like structure 40, ﬁﬂgﬂm%m@awm{gm
lying above the pituitary fosaa. 8 |
(A) Optic nerves (A) yﬂQ‘a: afx®r
(B) Optic chiasma (B) HTH HRIFN
(C) Lateral geniculate bodies (C) ai¢ INFAz aidta
(D) Optic radiations ﬁ (D) JT% fafiww
(E) Not attempted (E) 3wqifaa
41, is defined as the number  41. # avrdedar %) g 9o e
of wavelengths per unit length. o & &y § oftmfa ey I @
(A) Wavelength (a) Terketar
(B) Frequency (B) Fmyfa
(C) Wavenumber (C) avrasan
(D) Speed (D) wfa
(E) Not attempted (E)
42. In clinical practice the chromatic 42. *ffiwa Fd 3 sta & o= fem =
aberration of the eye is made use J9am 3 frm k)
of in the
(A) Mychrome test (A) URFIA T
(B) Duochrome test (B) 33?1’}3’1 g™ ﬁ
(C) Pin hole test (C) f g1t
(D) None of the above (D) vt # @ 1 7@
(E) Not attempted (E) Jrwarfea
43. Infections transmitted by inhalation is 43, _ 0967 0 wha T I
FR R |
(A) Tuberculosis (A) &9 ﬂ"
(B) Influenza (B) WA
(C) Measles (C) @qU
(D) All of the above (D) 3 @ft
(E) Not attempted (E) Iwafia

-10-
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G4, is a transparent, circular,
biconvex structure lying immediately
behind the pupil.

(A) Lens
(B) Vitreous
(C) Aqueous humour
(D) Retina
(E) Not attempted

485. The memory and storage dewvices are
measured in terms of

(A) Meters and Inches

(B) Grams and Kilograms
(C) Bita and Bytes

(D) Bytes and Meters

(E}) Not attempted

465, means loss of vision in opposite
halves of visual ficld.
(A) Heteronymous hemianopia
(B) Homonymous hemianopia
(C) Both (A} and (B)
(D) None of the above
(E) Nat attempted

47. The World’s largeat News Agency is

(A) TASS
(B) Antara
(C) Reuter
(D) United Press Intemnational
(E) Not attempted

48. is situated in the shelter of
bone, forming upper and outer border
of wall of the eye socket.

(A) Conjunctiva
(B) Lacrnimal gland
(C) Sclera

(D) Comea

(E) Not attempted

44.

45.

47.

48.

-11-

CG - 0A23

& e, AR, swgiaa
& R R el & s N8 e R

(A) 8

(B) 1 F #
(C) IgF
(D) W
(E) swafda

o 3k =Re Rarm #)
&9 & gror awn

(a) fzx st 3=

(B) 7m 3N feenam
1c) @ 3 wrge

(D) W I fex

(E) Fwafa

w1 ad R gr @ % I

Rrvtr feedl # 2R A wR 1
(A) RAfma imERR
(B) gmardaw rRmmRam
(© () AR (B) QA

(D) I & & ¢ &

(E) waif&a
fag € a8 «d) guER @9 R
(A) 8 (TASS)

(B) 3

€) tgx %
(D) GATELS NE FTATAR

(E) warfda

T & 3dH N B| g R, N
e ¥ qfre & dan f 7@ A Tl




gradein

49. The amount that an €ye can
gecommedate reduces with age,

a phenomenon known as

(A) Hypermetropia
(B) Ametropia

(C) Myopia

(D) Presbyopia

(E) Not attempted

Foot of the perpendicular drawn from
the point (1, 3, 4) to the plane
2x-y+z+3=0is

(A) (-3, S, 2)

(B) (0, -4,-7)

€ (1, 2, ~3)

(D) (-1, 4, 3)

(E) Not attempted

51. The isdefined as the distance
between two symmetrical parts of the
wave motion.

(A) Wavelength

(B) Colour vision

(C) Amplitude

(D) None of the above
(E] Not attempted

52. are the ganghonic cells in
ganglionic cell layer of retina.

(A) First order neurons
(B) Third order neurons
(C) Second order neurons

(D) Fourth order neurong

(E) Not attempteq

-12-

49. uE i@ ¥ guaawd A WGl W & &

S1.

Sa.

7 & 1t B, 56 g Wt % &

(D) wRamfdm
(E) wafda

Hﬁ2x-y+z+3-0'ﬂﬁ'§(l,3,4)ﬁ
@R e e w1 5 ?

(A) -3, 5, 2)

(B) (0, -4, -7)

(€ (1, 2,-3)

(D) 1, 4, 3)

(E) avafa

w1 nfy & @ \ofie wml &
e & gh * =9 i shoafys fem mn @
(A) aCTeeA

(B)  gfeR

(C) JI@W

(D) IR § A W T8

(E) uaiae

T H 79 FfRE @
¥ 8w Ffvend €

(A) T8 1 & =i
(B) fR 31 & =i
(C) T8 0 & =iy
(D) ¥ % ¥ iy
(E) Ivafa
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A Cathode Ray Tube (CRT) monitor
contains a which is a fine
mesh made of metal, fitted to the shape
and size of the screen.

(A) Magnetic yoke
(B) Electron gun
(C) Shaft
(D) Shadow mask
(E) Not attempted
______is a arcular, pink coloured disc
of 1.5 mm diameter.
(A} The optic nerve
(B) The optic disc
(C) Retina
(D) Choroid
(E) Not attempted

u.

ﬁ

88. When the refraction of the two eyes is
different, the condition is known as
(A) Anisometropia
(B) Hypermetropia
(C) Axia! myopia
(D) None of the above
(E) Not attempted

56. The oumber of ways in which S giris
and 3 boys can be seated in a row 8o
that no two boys are together is

(A) 14040

(C) 14000
(E) Not attempted

(B) 14440
(D) 14400

is a condition of loss of half
the field of vision of both eyes.

(A) Hemianopia

(B) Amblyopia

(C) Amaurosis
(D) None of the above
(E) Not attempted

57.

54.

57.

CG - 0OA23

T W (o) s @&

o 3, 3 g @ ) & wd el @ 3, AR
G & R K am 9 2 R s
(A) Mes 3w

(B) ¥R ™

(C) IR

(D) #3) 77

(E) varf&ad

_ 15 Pt =m i @& FIER,
e 1 i Rew ¥

(A) T afiw

(B) AT e

(C) W™

(D) R

(E) Fvaf&a

su 2F) gl W Igad er-em & R,
AmRAAN___ Fwmiamam

(A) PR

(B) 4 3

(C) 3 Prae gfedm

(D) T § @ 3 7@

(E) Mugria

5 Tgfat 3R 3 FIgH N = R 1§ W W
R, fhQ I @ aw I a3 | IR
g adsm anagsan ¥ ?

(A) 14040 (B) 14440
(C) 14000 (D) 14400
(E)
3t arralt # 3R % My A
+ IHEE & fafa R
() Bfamfa
(B) Agfe
(C) ruan
(D) I & @ HE &
(E) Iwaia
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S : 18 defined as the change 11y
trection of hight when ot panses (rom
one transparent mednum into

. nnothey
ofdifferent opuie

aldensyy The mnmaewden
ray, the iefracted ray and the normal

all he in the same plane,

(A) Reflection
(C) Diffraction
(E) Not attempted

(B) Refraction
() Retraction

A i8 an interconnection of
autonomous computers for the purpose

of communication and data sharing,

(A) Plugin

(B) Bus
(C) Cable
have threshold for light

(D) Computer Network
(E) Not attempted

stimulus.
(A) Rods (B) Cones

(E) Not attempted

lfcoaysxoos(a+y)m'thoosa#:tl,

dy .
then di is equal to

sina cosa
(A) cos?(a +y) (B) sin’(a + y)
C cos’(a +y) D) cos’(a +y)
) sina cosa

(E) Not attempted

Middle layer of the eyeball consists of
(A) Choroid

(B) Ciliary body

(C) Ins

(D) All of the above

(E) Not attempted

59,
(A) <fig
(B) |9
(C) e
(D) FYX Fead
(E) Jvaifia

60 YN IOF & oy Swies

.Mtl

(A) UgH
(C) e
(E) waida

B)
(D) FRE

Ife cos y = x cos(a + y), ¥a &
cosa#il,iﬁ :i W 2

61.

sina cosa
# oy (B) sin(a + )
(:032(a +y) 2
© —ena cos’(a +y)
(D)
cosa
(E) A
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65.

67.
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iIs the mcasurement of

comeal thickncss.
(A) Pachymetry

(B} Tomography
(C) Immunography
(D) All of the above
(E) Not attempted

Which among the following library
function is used to find the average
of column or a row of numbers ?

(B) MAX

(A) MIN
(D) COUNT

(C) AVERAGE
(E) Not attempted

The junction of cornea and sclera is
known as the

(A) Comnea
(C) Iris
(E) Not attempted

(B) Limbus
(D) Ciliary body

are in which parasite
remains in the tissue in a hidden
form that proliferates and produces
clinical disease when host resistance

is lowered.

(A) Inapparent infections
(B) Atypical infections

(C) Latent infections

(D) Endogenous infections

(E) Not attempted

Haryana Govt. had renamed village
in Yamunanagar district to
Saraswati Nagar.

(A) Doulatabad

(B) Akbarabad

(C) Mustafabad

(D) Mundn

(E) Not attempted

CG - 0A23
63. = 2~ R ATEsiomd
(A) A
(B) ZFTrhl
(O sgnmH
D) 37 af
(E) 3uaifla
64. PF=fafga d A faa aggh w@m = gam
FIT gt O & 40 & A A FA
#F foro /@ I R
3= (A} MIN (B) MAX
¥f (C) AVERAGE (D) COUNT

(E) A

65. I 3N A0 F IWH H
F 9 T I o R
(A) ST (B) F=rl
(C) ﬁ@ﬁgﬂ?ﬂ ('D)—Rl%?ﬁﬁ'@

(E) Fumfia

3 ol & el ot T
Mgwﬁmﬁ@%wm
afre wx B o dqfre @ 3w R

67. FATMEFR ITFAR A F Wl =
™ geead TR F= e R

(A) AR
(B) HFATER
(C) TEAIRIETg

(D) TR
(E) Fwaide



gradein

Co

—0
%8 n thie,c 18 uhnm nml lengh 68. 5[4 °
| of the Cleel 11 [] -:::j::eD-::II::-DOD 0 00
1\ X ml n:: U0 pll (Ae ©
(HI CulJ L] mm:[roplc B16©
(CJ Jude. nm L pla ©) ooooo
(DJ \ho pul ' o
E) Notall eipte’ E) O 400
co. (yLis a silellll @9,
“pstanc € @bsolibll gO@TL LT 00000000 000
0obooo o
nui§35 [m o slsoon ¢ . @ )
(\) Ulraviol 0t (A Cooonile € ||
(BJ DDOOOEmOpOndC (B)@
fC) DDDDy%%@FD (©) oinn ¢
(D) N, [} fthi1 Cbovl (0) DOOO0
(E) Net, (E) OOooO
70. Ooooooooor meridian o 70.
ST PG piic OO0 ThDdte D 0 0myOpll . [ 0&0 . EW
(A) DODOEEE |
(B) SC1Cpl] @))@f@mmm
0«00
@9089@@ Cle oo
%YI@%@@M@@D (D) (101000
N @@ @ @ Yafsin
o pD p E) (114 [
Aol on 00Mepn oo
Uz mon il P, /1. -0 minlnininin SN
IA -ZI::I{% D.;::; DO S - D@ 0 t o\
( Aﬁjl Dlp::::sDPD 00) (A) =00
g An a’l%neum o (B) NI
BIA - Pai (g
B N ] @ L {CJ a0
Oﬂitmﬁ}nptm
/2 | (D) ez
. n D
hoo . 1018 (E) O 4, o
" ol bi ﬁDE;fO\.]thg cUTOleft /2
DittDDrDJ“__'D[ 0 000000000 |
'CJ fi “ 1 tanl
ilﬁngﬂgﬂ‘émlimom POO ™) ['hn- DD4DDDD 1
blyp g B
(E))Nttnthm0 " Egern e nona
Pled (C) SU6 ff 0 4 DD 4;4

(D) ¢

0) &
E



gradein

ol
73. indric - '
hon ntal 1S wn en S, ) with s 3 g iz ”"’DDQ'IOQQ .
A A P RIRININIal.
O000A10000180 O 0 0/+1.00x18 0]
(B) [.OC/-1.0DXIBL (Bl (1.0 00/-L.00xI8C
(C) L.L/-1.LLxI8 (CJ [1.00/-1.010IxI8
(0 DOD/00ooonos (DI 00.00/+.000x18
74.  (E) Not aﬂ@ﬁ@ﬁ@- O [tosel] it ve 74. (E) m e[
of T ceID @ tio . D
(B) Ble @ 0
Noeu [ CIsp ] ) DO0H
(D) NlIne of tO[] (D) Dooono
Riayipll 0 (E) DOOO00
75. 1E)1N66t [titternpteda GO0 et [Cp 75 [196601q 1010000
cOommi 0 OidOt0Hivio o
tile DDtuptDDDDDDDDDDDfDJDb Jpoonpno ©e 08
000 00
FA% . B SCal (AwWL (B) @
€) AgtEm (D) DOvi (17 (c) otubU (D)€
(E) N[t attempted (E)
26 10180, ULLULLLSLULLUL Delult 76 g0 HHT0 @ 00000 € €
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78. The words

80.

81.
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1ahst Sccular a nd

nddcd to the Iindian

lntcgﬂ' 1976 through

Constitution nin

14
Amcndmcl
‘,\) 86

B) 22 smendmettt
(C) 42 Aamendment
(D) 46* ammendment
(E) Not Ancmpted

_isa small yellowish area,

gtuafcd—ﬂ—m lateral to the optic disk

n retina and also called as yellow spot.

(A Optic disk

(B) Macula lutea @y
(C} Vitreous humor

(D) Aqueous humor

E) Not attempted

In . moving the lens away from
a myopic eye will cause the image
seen to increase in size, whereas the
converse is true in hypermetropia.

(A} Hypermetropia
(B) Myopia

< HYPOmctrOpia
(D) Ametropia

(B} Not attempted

(C) “ypemm ro .

‘E, Not aucmpted

Cyca

78.

79.

80.

A o WA g g "
garaard), wifiay
M ? 3"1%“’%
(A) 86 @l gyaq
(B) 22 91 qus
(C) 42 1 q¥A
(D) 46 a1 GG
(E) Jrvafad

@@ammm% -

ﬁmm%mmn%
Wﬁmmzﬂmm%l
(A) MRS fe=
(B) Aagen oqfean
() fafeaw Tm
(D) Afeag8 PR
(E) T9aTéd
TR @ Bf 1 WNER @ I,
BRI I die s fuda g

(A) BFuiele® g

S (B) mafE st

(D) Fwifasy
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82. 18 the process by which 82.

light energy 18 converted into receptor
potential in visual receprors

ag shma 2 faas g0 g&m
mﬁmmﬁﬁmm@ﬁﬁmﬁ
oftafda e e R |

(A) Phototransduction (A) RIRTASHR
(B) Dark adaption (B) T H{HA
(C) laght adaption (C) THH R{HA
(D) None of the above (1)) 3aa § A FE A&
(E) Not attempted (E) arsfda
83. is due to the vitamin A 83. faafm A 1t =0 F s
deficiency. B 8 |
(A) Rickets @vsE (A) Q@1 A
(B) Night blindness E‘?ﬁ(g, G
(C) Scurvy “(C) w=Hdl
(D) All of the above (D) Iad af
(E) Not attempted (E) Agaf&a
84. In which among the following districts 84. fafiRes § @ shawn F &4 IEERRT
of Haryana, Kunal pre-harappan site TSHET o FOTA CIRC IS ~§§ 2
was discovered ? '
(A) Hisar (A) fgam
(B) Mahendragarh (B) T&zTG
(C) Jind (C) fag
(D) Fatehabad (D) wagar
(E) Not attempted (E) FIia
85. A lens can also be'usefulto g8, FH A NI S= &1
gain a magnified view of the optic disc mama m
and is sometimes used in paediatric b F H PV‘Q W 39
? I Ffi-+f T Fafeca = faam
ophthalmology.
(A) +12 D B 8
C) +1aD (B) +13 D E¥5E (A) +12 D (B) +13 D
() (D) +15D % (C) +14 D (D) +15D
(E) Not attempted EIRE: (E)

86. Pupillary reflexes are classified into 86.

(A) Light reflex

(B) Ciliospinal reflex

(C) Accommodation reflex
(D) All of the above
(E) Not attempted

-19.

ot fiwelaaw =1 i
fFmmn & e

(A) e Roctsy

(B) Referaramzas fwerew
(C) tHmMZyH Rty
(D) I af

(E) Iyarfag
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tands for
adWARE

fIWARE
dWARE

g7. Malware>
(A) MAUC‘OUS

(B) MALicious S0
(C) MALicious har
(D) MAL soft WARE
(E) Not attempted

Blind spot1s the smallarea of
ceptors are absent.

where visual r¢

(A) Corueca
(B) Choroid
(C) Retina
(D) Sclera

(E) Not attempted
89. Colour is perceived by populations
of cone photoreceptors in the retina
which are sensitive to light of
wavelength.

(A) Short

(B) Middle

(C) Long

(D) All of the above
(E) Not attempted

is the intnnsic muscle
of the eyeball.

(A) Dilator papillae
(B} Superior rectus
(C) Inferior rectyg

(D) Medial of mternal rectyg e

(E) Not attempted

91. Sohna Car rally passeg

(A) Panech kula
(C) Aﬂﬂ)a,la

@ Not attempted

through the
aryana.

(B) Faridabaq

87.

88.

89.

QEaa 1 Y B

(D) FAYTHA
(E) rsaiad

i W P W PRI 6 v
20 T A 8 S e &
Y& & i dagsfia 2 &

B () 7

90.

-20-

_ Famdas & raftE i R |

(A) SRR AMen

(B) gHfeR taeq

(C) TR taeg

(D) Hifsas @ =& ww
(E) Iwnfya
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92. 1S large m mvopin und gmall
in hypemictropia and aphak:
(A) Optic disk

{B) Optic chaiama

C) Opt ¢ nerves

D) None of the above
(E) Not attempted

93. provide measurements of
the curvature of the comea.

(A) Keratometer

(B) Retinoscopy

(C) Microscopy

(D) None of the above
(E) Not attempted

94, Which of the following is common
distribution channel for Malware ?

(A) Downloaded from the internet
(B) Spam e-mail

(C) Network propagation

(D) All of the above

(E) Not attempted

95. Oculomotor nerve supplies
nerves.

(A) Supernor rectus V‘zﬁw
(B) Inferior rectus

(C) Medial rectus

(D) All of the above

(E) Not attempted

96. The X-chromosome carries genes
encoding for
(A) Yellow and red pigment
(B) Yellow and green pigment
(C) Red and green pigment
(D) Green and blue pigment
(E) Not attempted

-21-

92.

93.

94q.

9S.

96.

CG - 0OA223

i o wgr o wggraiaa
M swnifm f wre ma £
(A) HT2w s
(13) nTRw 441 oy
(C) uffew afa-m
(D) Iaas ¥ | it 7l
(E) rvarfaa
Him H) Ishd) | 99 _ 93
w1 € |
(A) HTEHRT
(B) WA=
(C) W3R
(D) 3w & A wid F&
(E) Hyafda
TR ¥ fore Praffee @ @ |R-W
s e A R 7
(A) T ¥ sEAHS v ™
(B) &% 3-T
(C) IzT% FaR
(D) 390 @il
(E) Avafia

Negendiz a
Frgfd s R

(A) gt Yww

(B) 3THIET YW
(C) Mfsaw s

(D) 3 i

(E) J9aiya

X-Torg3 ¥ o R T=itEn
&1 91ES Tl 8

(A) ften 3R e qule
(B) dten Ik &0 ot
(C) o AR g0 vl
(D) &0 AR Hren Futw
(E) vamfg

e N
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Chhotu

hu :
nhﬂnd S sltua!Cd

() Hisar
(D) yamunanagar

(E) Not attempted

The inner nN¢
(A) Sclera (B) Cornea
(C) Iris (D) Retina

(E) Not attempted

If a relaxed eye has more refractive
power than the emmetropic eye, it is

known as

{A) Presbyopia

(B) Myopic

(C) Hypermetropia
(D) Ametropia

(E) Not attempted

97.

98.

99.

100

IR Th HIEIEH mﬁmﬁ
@z\tﬁ%mammg,ﬁﬁ

HEUR AT AM R |
(A) S@rafE
B) fwe 3Ry §
() 3 gfRem

(D) Nﬂaﬁm
(E) saifaa

e & 98 AR R
e amm @ @ F w, o d
B {901 e it e waeiE W

% 7 Wm0 o # |
(A) TR

(B) gizamigifa

(C) il

(D) Tz
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